
Forgotten Joint Score – 12  

Scoring algorithm 

Every question is scored 1 (never) to 5 (mostly) according to the selected response 

categories. Thus, the raw score ranges from 12 to 60. The raw score is linearly 

transformed to a 0-100 scale and then reversed to obtain the final score. 

Final score = 100 - ((sum(item01 to item12) - 12)/48*100) 

For the final ‚Forgotten Joint Score -12‘ a high score indicates good outcome. 

Missing items: In case of missing answers, the mean of the answered items is used 

instead of the sum of all items and multiplied by 12 (i.e. the missing values are 

replaced with the mean of the completed items). 

If more than four of the answers are missing also the total score should be treated as 

missing. 


